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MATHEMATICS

(211)
f'k{kd vafdr ewY;kadu i=k

TUTOR MARKED ASSIGNMENT

oqQy vad % 20
Max. Marks : 20

fVIi.kh% (i) lHkh iz'uksa osQ mÙkj nsus vfuok;Z gSaA izR;sd iz'u osQ vad mlosQ lkeus fn, x, gSaA
Note: All questions are compulsory. The marks allowed for each question are given at

same place.

(ii) mÙkj iqfLrdk osQ izFke ì"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u ozsQUnz dk uke
vkSj fo"k; Li"V 'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first
page of the answer sheet.

1- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj nhft,A 3
Answer any one of the following questions.

(a) ,d la[;k igys 20% c<+rh gS fiQj 15% ?kVrh gSA Kkr dhft, fd la[;k oqQy fdrus izfr'kr
?kVh ;k c<+h\

A number is first increased by 20% and then decreased by 15%. Find the net increase or
decrease percent.

(b) ,d iqQVdj foozsQrk deht cukus okys ls #- 200 izfr deht osQ fglkc ls deht [kjhnrk gS vkSj
#- 300 ewY; vafdr djrk gSA og ml ewY; ij oqQN NwV fu/kkZfjr djrk gS rFkk Ø; ewY; ij
35% ykHk dekrk gSA NwV dk izfr'kr Kkr dhft,A

A retailer buys shirts from a manufacturer at the rate of Rs. 200 per shirt and marked them at
Rs. 300 each. He allows some discount and earns a profit of 35% on the cost price. Find the
percentage of discount.

2- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj nhft,A 3

Answer any one of the following questions.

(a) ,c ckWDl 50 lseh- × 80 lseh- × 30 lseh- eki osQ ?kukHk osQ vkdkj dk gSA bl ckWDl esa 10
lseh- × 10 lseh- × 6 lseh- eki osQ fdrus ?kukHkkdkj iSfdV j[ks tk ldrs gSa\
A box of cuboidal shape has dimensions 50 cm × 80 cm × 30 cm. How many packets of
cuboidal shape with dimensions 10 cm × 10 cm × 6 cm can be kept in this box?
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(b) ,d nqdkunkj ,d oLrq 3000 #- esa [kjhnrk gS rFkk bldk vafdr ewY; 4000 #- j[krk gSA og
vius xzkgd dks dqN izfr'kr NwV nsdj Hkh 20% ykHk dekrk gSA mlus xzkgd dks fdrus izfr'kr
NwV nh\
Cost price of an article for a shopkeeper is Rs. 3,000. Shopkeeper marked its as Rs. 4000.
He allows some discount on the marked price still gains 20%. What percent discount does he
allow to the customer?

3- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj nhft,A 4
Answer any one of the following questions.

(a) ,d vk;r dh yEckbZ] bldh pkSM+kbZ ls 7 ehVj vf/d gSA ;fn bldk ifjeki 50 ehVj gks] rks
vk;r dh yEckbZ rFkk pkSM+kbZ Kkr dhft,A

The length of a rectangle is 7 m more than its breadth. If its perimeter is 50 m, find the length
and breadth of the rectangle.

(b) ,d 30 ehVj Å¡ph ehukj osQ f'k[kj dk] mlh ry ij fLFkr ,d nwljh ehukj osQ ikn ij mUu;u
dks.k 60° gS] rFkk nwljh ehukj osQ f'k[kj dk igyh ehukj osQ ikn ij mUu;u dks.k 30° dk gSA
nksuks ehukjksa osQ chp dh nwjh rFkk nwljh ehukj dh Å¡pkbZ Kkr dhft,A
The angle of elevation of the top of a tower 30 m high from the foot of another tower in the
same plane is 60°, and the angle of elevation of the top of the second tower from the foot of the
first tower is 30°. Find the distance between the two towers and also the height of the other
tower.

4- fuEufyf[kr esa ls fdlh ,d iz'u dk mÙkj nhft,A 4
Answer any one of the following questions.

(a) ,d ckg~; fcUnq P ls nks Li'kZ js[kk,¡ PA vkSj PB ,d ,sls òÙk ij [khaph xbZ gSa ftldk osQUnz
O gSA fl¼ dhft, fd OP, AB dk yEc lef}Hkktd gSA

From an external point P two tangents PA and PB are drawn to the circle with centre O. prove
that OP is the perpendicular bisector of AB.

(b) ,d Vsyhfotu #- 7500 udn Hkqxrku vFkok #- 3000 rqjUr Hkqxrku vkSj blosQ lkFk #- 1000
izfrekg dh 5 leku fdLrksa esa miyC/ gSA bl fdLr ;kstuk osQ varxZr fy, x, C;kt dh okf"kZd
nj Kkr dhft,A
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A television is available for Rs. 7500 cash or Rs. 3000 cash down payment followed by five
equal monthly instalments of Rs. 1000 each. Find the rate of interest per annum charged under
the instalment plan.

5- uhps nh x;h ifj;kstuk esa ls dksbZ ,d ifj;kstuk rS;kj dhft,A 6
Prepare any one project out of the given below.

(a) 2017 esa gksus okys fdlh fØosQV eSp osQ vk/kj ij ,d çkstsDV fjiksVZ cuk,¡ ftlesa nksuksa Vheksa osQ
[ksy dh rqyuk djus gsrq fuEu ckrksa dks n'kkZ,¡%

(i) izR;sd f[kykM+h }kjk cuk, ju
(ii) nksuksa Vheksa osQ izfr vksoj osQ vkSlr ju
(iii) izR;sd cYysckt dh ju nj
(iv) izR;sd xsanckt dh ju nj

(v) izR;sd vksoj esa vkSlr foosQV nj

Observe a Cricket match to be held in 2017. Prepare a project report indicating comparison
of the performance of the two team with respect to :
(i) data of individual scores
(ii) team-wise average score per over
(iii) run rate of each batsman
(iv) run rate of each bowler
(v) average wicket rate per over

(b) ftl {ks=k @ xk¡o esa vki jgrs gSa] 50 ifjokjksa @ ?kjksa dh oqQy tula[;k dk losZ{k.k djsaA
(i) izkIr vkadM+ksa dks ,d lkfj.kh esa iznf'kZr djsa] mi;qDr oxZ vUrjky cukdj oqQy lnL;ksa dks

vafdr djsaA
(ii) ifjokj dk vkSlr vkdkj Kkr dhft, rFkk vkadM+ksa dks vk;r fp=k }kjk fu:fir dhft,A
(iii) fdrus ifjokj vkSlr vkdkj ls mQij rFkk uhps gSa\

Conduct the survey of 50 households from the locality / village, where you reside, regarding
population.
(i) Present the data in tabular form taking adequate size of class interval of house holds and

the number of members.
(ii) Calculate the average family size and represent the data in histogram.
(iii) How many families are above / below the average family size?
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